Instructions

Choose the correct verb form that agrees with the subject in each sentence.

Questions

A flock of birds flying south.

(A) are
(B) was
(C) were
(D) is

Answer: (D) is
Three-quarters of the city without power.

(A) was
(B) were
©is
(D) be

Answer: (A) was
The news surprising.

(A) are
(B) is
(C) were
(D) have

Answer: (B) is

Either the children or the babysitter responsible.




(A) be
(B) is
(C) are
(D) were

Answer: (B) is

My pants in the closet.

(A) is
(B) are
(C) was
(D) has

Answer: (B) are

Each of the students a book.

(A) have
(B) has
(C) are
(D) were

Answer: (B) has

The data reliable.

(A) is

(B) are
(C) was
(D) were

Answer: (B) are

The committee agreed.

(A) have
(B) is
(C) has
(D) are

Answer: (C) has

The list of names

(A)is
(B) are
(C) were
(D) be

Answer: (A) is

on the desk.



The horses in the stable.

(A) are
(B) is
(C) has
(D) was

Answer: (A) are

Next Steps

Once you have finished the worksheet, review your answers to reinforce your understanding of
subject-verb agreement. Consider further exercises if needed.



